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Topic:- GENERAL HINDI

1) < &1 wafgar) g A A Faarg?
1. B

2. BCH

3. P

4. 3fq

Correct Answer :-

2) I SUTT & T W5 19 F A B9 A1 82
1. S
2. BW
3. 3T

4. 3dR

Correct Answer :-

Correct Answer :-


Lenovo
Stamp

Lenovo
Stamp


4) Y o1 fid g F A A P arg?
1. 3RATY

2. g

3. Y

4. WA

Correct Answer :-

. Y
5) ‘Methodology’ g & forg fa=dt yrar & Ifera wikvwifye Rregracht &1 aa= w31

1. 3FIHH
2. frarugfa
3. Tfchar

4. MY Ugfa

Correct Answer :-

. frarugfa

6) "UTadl’ H WANT g1 GUN 87
1. g1

2.5%

3. TR
4. FHYRY

Correct Answer :-

7) 3T I $a= g3 AT 1 79 fHAR T Y GITT 11 - H S BT 9 Fa1s¢|
1. AUTE B

2. GRAT &q

3. A FG

4. 3lg1Ba



Correct Answer :-

. HUE 6

8) UYH $ BT YW Uidd Hg IHR |

T § o1d 3feil a8, 91 AT & iR 11 - ° 3 & 9 314 971 SreioR 32
1. 399 3fADBR

2. (T SABR

3. GoblfeRd SABR

4, ¥R 3hR

Correct Answer :-

. TR I[APR

9) MigHTaET Rl

1. 49194

2. 9HY

3.9

4. e

comectrema. . U ~1Ill 1
. e

10) I FM T T GeTa¥ FT 312 T G A2
1. g9 Y Sfia" ordtd BT

2. 3RTH Y 93D I FoIT

3. Sitgq H sdg Ja
4, TG IO &1 A s

Correct Answer :-

o W Y Sitad HdId Bl

Topic:- GENERAL ENGLISH

1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:

She took the line of least resistance because it was a lost cause.



1. a thread with no tension
2. the course of action which is the easiest to take even though it is not the right thing to do
3. to support whole heartedly without any second thoughts

4. to surrender the object and gain admission into

Correct Answer :-

« the course of action which is the easiest to take even though it is not the right thing to do

2) A sentence with an underlined word is given below. Choose the correct option which is closest in meaning to
the underlined word.

Some actresses dress flimsily.

1. finely

2. scantily

3. fully

4. fashionably

Correct Answer :-

« scantily

3) Out of the following options, choose the most appropriate tense thatbest fills in to complete the given
sentence:

We __ the vacation with our friends last month.
1. will spend

2. spend

3. spent

4. have spend

Correct Answer :-

4) Choose the appropriate adverb clause from the options to complete the given sentence:
, I would fly away.
1. If had I wings

2. If I wings



3. If I had wings
4. Had if [ wings

Correct Answer :-

o IfI had wings

5) Out of the following four options, choose the incorrect sentence:

1. The real effect of technological advancement can be felt when we compare our lives with our forefathers.
2. Wind is an inexhaustible source of energy which, if harnessed, could yield benefits to mankind.

3. A new research has revealed that mild fevers actually weakening viruses that thrive at body temperature.
4. In many countries, provision was made for medical and housing assistance.

Correct Answer :-

« A new research has revealed that mild fevers actually weakening viruses that thrive at body temperature.

6) Out of the following options, choose the correct form of verb that is in agreement with the subject for the
given sentence:

The doctor and the nurse  together.
1. working

2. work

3. is working

4. works

Correct Answer :-
» work

7) Out of the following options, choose the most appropriate usage to fill in the blank:

This book is _______interesting.
1. very much

2. too

3. simple

4. much

Correct Answer :-



8) Arrange the sentences P, Q, R and S to form a logical sequence between sentences 1 and 6.

1. Henry was able to study the Loch Ness monster for four minutes, the length of time for which it remained
in view.

P. Soon, it zigzagged up the loch at about five miles an hour.

Q. It was dark in color and had a three-foot long neck and a slim head about the size of a dog's.

R. It remained in view for four minutes by Henry's watch.

S. The monster was half a mile from shore but clearly visible in the sunlight.

6. And finally, submerged opposite to him, leaving a frothy streak on the surface.

1. SQRP
2. PRQS
3. QRSP

4. PQRS

Correct Answer :-

Topic:- GENERAL KNOWLEDGE

1) According to the MP Budget Estimates 2018-19, which among the following is the second largest component
of the Tax Revenue of state? /

AR Foic AT 2018-19 & HR, FafafEa & ¥ 19 91 T50 & $X Ioa BT g3 TG 981 9T 82
1. Electricity duties / IES] Tﬂ\_a
2. State excise duty / I TGS YL

3. Land revenue / Y-S

4. Stamps and registration / &I 3R Yol

Correct Answer :-

« State excise duty / X[vg UG sy\cnl

2) Who among the following won the IBSF (International Billiards & Snooker Federation) World Billiards
Championship 2017? /

Fafafeaa 9 3 fPam snsdivauw (SexvFa Aty T Y@y heexe) dAftRifkia 2017 i Siar?
1. Geet Sethi/ Td ¥at
2. Ashok Shandilya/ 3fRI& MO



3. Subhash Agarwal / HIY 3{UdIc]

4. Pankaj Advani/ Ul STSarufl

Correct Answer :-

« Pankaj Advani/ Ul STSarufl

3) In which year was the Indian Institute of Management established at Indore in Madhya Pradesh? /
5T af ¥ 7 Ut & AR W URHIT YaUH WA R g3 A2

1. 1990

2. 2005

3. 2000

4. 1996

Correct Answer :-

» 1996

4) The India International Silk Fair 2018 was held on October 16" 2018 in ol
16 3(FgaR 2018 B, U Aareeid fres dar 2018 o smaifora fosam T T
1. Hyderabad / %azla Q

2. Mumbai / H_&I_st
3. Bhopal / T

4, New Delhi /:|_Sc faee

Correct Answer :-

« New Delhi / 7S faeeh

5) Pandit Kumar Gandharva Samaroh is held in ./
Ufed pUR Ted TuRE W Smafira faman wimar @1

1. Dewas / A

2. Indore/g_caT

3. Dhar/ &R

4, Maheshwar / II%%R

Correct Answer :-

e Dewas/ m



6) Rahul Dravid, who represented Karnataka and India in cricket, was born in which among the following cities of
Madhya Pradesh ? /

gd sfag, rgiv fhdre ® Trles SR YR o1 ufafAfira fran 8, 39%1 970 wer wer & fFrafefead el & 9 wgl gon
UT?

1. Bhopal / T
2. Gwalior / TaTfeTAR

3. Sagar / dIR

4, Indore / g_caT

Correct Answer :-

e Indore/ 3?3?

7) District Morena comes under which division of Madhya Pradesh? /
forar ARACT, Aeg U= & fhd YU & Siavfa Smar 82

1. Rewa / 3l

2. Shahdol / TSI

3. Sagar / dTR

4, Chambal / d&dl

Correct Answer :-
« Chambal / 98d

8) _ lineis the boundary demarcation line between India and China./
___ ¥, WRA SR 9 & e e v g

1. Red /X8

2. Radeliffe / YSfaRTh

3. McMahon / H&HgH

4, Durand / §Q' S

Correct Answer :-

e McMahon / ﬁmﬁ:{

9) The recent scheme UDAN is related to which of the following? /

T 8 § 3 AT 9o e § 9 frad) ddfta 22



1. UDAN is a scheme for promoting digital payments/
IS, fSfted YTdr! &1 9gTa1 24 & forg uep gioF B

2. UDAN is a scheme for highway connectivity/
JeH, TSTHN HAfgeidet & fw e de 3|

3. UDAN is a scheme for financial turnaround of power distribution companies /
IS, faorett faavur dufat & fowita seame & fore te a1 5|

4. UDAN is a scheme for regional air connectivity/

M, &3 gaTs T & fo U Ao 5|

Correct Answer :-

« UDAN is a scheme for regional air connectivity/

ISH, &3 gaTs T & fo U Ao 5|

10) Captain Roop Singh, born in Jabalpur, represented India in which among the following sports? /

SaqR # 9 W & g A Fufafed 8 @ foa @a °§ yra &1 ufaffiea fear?
1. Cricket / fohare

2. Shooting /R lé‘l
3. Basketball / b dTd

4. Hockey / B'Ta'ﬁ

Correct Answer :-

» Hockey/ gl

Topic:- GENERAL REASONING

1) If 71% of people like tomato soup whereas 83% of them like mix veg soup, then what can be said about the
least percentage of people who like both soups? /

i 71% NI B THTER BT U THS & STafd 379 & 83% & fed A% Ju Wig g, df S @il & graw fawra
& IR A T T oGPl @ oI gl gu uig 32

1. 52%
2. 50%
3. 56%

4. 54%

Correct Answer :-

e 54%



2) If C = 3 and POLISH = 79, then POINTER = / 4f¢ C = 3 3fR POLISH = 79, df POINTER =
1. 96
2.97
3.98

4. 95

Correct Answer :-

e 97

3) Find the missing number: / & ST {Td PN
3,10, 20, 33,49, 68, _____

1. 85

2.75

3.91

4. 90

Correct Answer :-

4) Find the average. / 3Nad RIGE T
54, 78,94, 75, 84 & 83

1. 64

2. 100

3.78

4. 42

Correct Answer :-

5) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /
A= & 1€ e sreRY ud TSl T SFH WART Bl 8 | TAd Hae ugdaH |

(i) MU97AP42PU

(ii) MU91AP42PU

(iii) MU97AP42PU



(iv) MU97AP42PU

6) Which one of the following four addresses is NOT EXACTLY same as the one given below? /

FaRfRT R IR @ d AR RE TR F e g HTaTTs T8 22

110-110/1 Sukhumvit Road,
between (Soi 4-6) Bangkok 10110,
Thailand

+66 2 656 8220

(i) 110-110/1 Sukhumvit Road,
between (Soi 4-6) Bangkok 10110,
Thailand

+66 2 656 8220

(ii) 110-110/1 Sukhumvit Road,
between (Soi 4-6) Bangkok 10110,
Thailand

+66 2 656 8220

(iii) 110-110-1 Sukhvmvit Road,
between (Soi 4_6) Bangkok 10110,
Thailand

+66 2 656 8220

(iv) 110-110/1 Sukhumvit Road,
between (Soi 4-6) Bangkok 10110,
Thailand

+66 2 656 8220



Correct Answer :-

7) A can complete a certain work in 4 minutes, Bin 5 minutes, Cin 6 minutes, D in 10 minutes and E in 12
minutes. The average number of units of work completed by them per minute will be ./

A TS [Af3a srd Y 4 e &, B 5 e #, ¢ 6 e A, D 10 e # iR E 12 fiFe § 99w &% 9&ar g1 ufd
e 9% g1 9uTW fre T ol $Y sersal B Siva e grft

1.0.16
2.0.17
3.0.15

4.0.18

Correct Answer :-

« 0.16

Topic:- PEDAGOGY

1) When some theories or principles are widely accepted and applied to explain particular cases, it
is known as: /

9 F LA 7 STl &7 AT €9 F T B Sran g 30 S st &1 qasme 6 forg oy B
STAT g, AT S99 9 § ST 14T &

1. Emotional thinking / STa=Tea =+
2. Lateral thinking / arsd =@+

3. Inductive reasoning / fae=Teq a%
4. Deductive reasoning / fAsTa=TeH= T%

Correct Answer :-

. Deductive reasoning / fFRTEATHS T

2) Children who can see partially: /
il S 3HifRT® U q ¢ 9Fd §, S5

1. Should be put in special schools. / faviy %ngﬂ\l' o g7 ST E|TI%'Q|

2. Should be put in a regular school with no special provisions. / fomT foreft faRiy uraem & fafia Ihd o T
ST <1 |



3. Should be put in a regular school while making special provisions. / HTHI Ih el H Teh (9= UTaY™ & dgd

M1 ST 98|

4, Should not be given education, since it is not of any use to them. / fRrem =7l <1 ST EIT%'Q, i T8 39dh fa
fopt oft aRg @ Suanh e B

Correct Answer :-

« Should be put in a regular school while making special provisions. / HTHI- Il T U [a=RIY Urae™ & dgd

1 ST d1fe |

3) Which of the following behaviors can be used to identify a child with learning disability? /

SfTH H 3 9 &) ygHH H1 & fau FAufefad A Q 919 91 uagR AT fear S J&dr 82
1. Frequent mood swings / 3R HS dadl ST

2. Writing *was’ as ’saw’, ‘21’as’12’ / “Was” P “Saw” AT TR «21” &I «12” feraAT

3. Abusive behavior / IHg dgR

4. Low attention span and high physical activity / H HHY db &+ 1 3R I IR Tfafafy

Correct Answer :-

« Writing was’ as ’saw’, ‘21’as’12’ / “Was” DI “Saw” LT “217 & <127 ferg T

4) RTE Act was implemented in India with effect from: /

RS Sftfam yRa # A= i | @y gem:
1. 4t August 2009 / 4 3T, 2009

2. 15 April 2010/ 1 319, 2010

3. 15 April 2008 / 1 39, 2008

4. 15t April 2011 / 1 319, 2011

Correct Answer :-

. 15t April 2010 / 1 310, 2010

5) In which type of Conditioning are both CS and CR ascertained beforehand? /

59 PR & SgEa (@GS # Ugd A § S 3R CR HT T TT ST bl 82
1. Sign learning / 78 S{feRTH

2. Verbal learning / e sifrmg

3. Classical conditioning / FATRIB S el



4. Instrumental conditioning / g Esfl'at_'l DS IRI

Correct Answer :-

+ Classical conditioning / FATRID A ol

6) When it is said that students of disadvantaged groups should be taught along with the normal students,
it implies: /

xﬁgwm%%ﬁﬁmwﬁaﬁmﬁmﬁfﬁ%qﬁmmaﬁma}mﬁmaﬁ

1. Special Education / fafRree fRren

2. Gifted Education / HTqHTRITC fR1&m

3. Exclusive Education / Tacid 1R&T
4. Inclusive Education / JHTARI fRref

Correct Answer :-

« Inclusive Education / JHTARI &

7) The ‘attitude and feelings’ aspect of behavior falls in the: /
IR | ‘TVDI0T 3R TS BT Ueq 3D Siciia IATaT 38
1. Cognitive domain of learning / STH BT JHTEHS UE

2. Conative domain of learning / ST BT fehaTeaTeh U8

3. Psychological domain of learning / 3{TSRTH &bl HAIATHD e
4. Affective domain of learning / ST T HTdTHD Uef

Correct Answer :-

« Affective domain of learning / ST T HTdTHD Ue

8) The information-processing approach emphasizes that individuals do all the following, except: /
GIAT-UshHOT ¥ 10T iR &1 3 fp safaa sasb Rara 99 38 3

1. Strategize information / -l DI G BHRAT

2. Forget information / =l Cal Hel ofl-T

3. Manipulate information / -1 | ?ﬁg-ﬂﬁts’ C2GI

4. Record information / T bl U HRAT

Correct Answer :-



+ Forget information / T Eal H SfT-T

9) The essence of an effective class room environment is: /

Ueh UHTA! H&T ITd1aR0l HT IR &

1. Pin-drop silence / qﬁwﬁl

2. A variety of teaching aids / Tafd UhR & fR1&01 Geraedh IUHRl

3. Lively student-teacher interaction / Stdd BTH-R1efe drddid

4. Strict discipline / I SJRATH

Correct Answer :-

« Lively student-teacher interaction / Sidd BTF-R1&d STdeld

10) Kindergarten literally means: /

fhewméa w1 fe® 3t §:
1. Children’s School / T Pl faeey
2. Children’s Learning / el &bl SAISRTH

3. Children’s Garden / =i T ST
4. Children’s Playground / Sl & W Dl A

Correct Answer :-

« Children’s Garden / S<aI T ST

11) In Spranger’s classification of personality type, which one of the following types is NOT included? /

TR & AfRId TpR F Fiffeo &, Faff@a & @ $19 a1 yer it T8 32
1. Political / ISl

2. Religious / UTfH&

3. Economic / 3T&

4. Materialistic / Hifd@arat

Correct Answer :-

« Materialistic / ‘l-ﬁﬁimﬁﬁ

12) In cooperative learning method, the role of a teacher is of: /



JePRI STTH 1A H, RGPS Bt YHBT 9 DI §lddl 8:
1. A Facilitator and delegator / T JHgdH quT Ul
2. A Delegator and formal authority / U gfafAfd qur siaeiie wfieRt

3. A Director / Udh ﬁé?l@
4, An Organizer / U W‘f

Correct Answer :-

« A Facilitator and delegator / Ydb HH-dYh Y[ IRIEIR

13) What does the cognitive domain of Bloom’s Taxonomy of educational objectives affect in learners? /

Reifore Iexal & e s ot Tifet &1 AT &F, Rienfdat & s ywfag swar e
1. Accuracy / TRZ[GdT

2. Strength / g

3. Endurance / 9g1-RIfokT

4. Thoughts / [daR

Correct Answer :-

« Thoughts / ICEIR

14) Educational Psychologists are more concerned with the learning in: /
Afére game e & ftrma & |y Sfie Jd 78d §:

1. Informal environment / 3OS GTATAROT

2. Formal environment / 3NTTRE GTTaR0T

3. Physical environment / ifde araravor

4. Social environment/HIHIBﬂb CIGIERLY

Correct Answer :-

o Formal environment / Gﬁw qrdraeuor

15) According to humanistic theories of learning, which of the following is relevant for the personal
development of learners? /

Wm%wﬁﬁﬁ%m,ﬁm%mm%mmﬁﬁw

1. Self interest / GI'I?H'%H



2. Self-respect / STHIHIT

3. Selfishness / 1Y
4. Self-expression / ST

Correct Answer :-

« Self-expression / ST A

Topic:- SOCIOLOGY

1) In his book, Marriage and Family in India (1955), Kapadia provides of Indian family. /
W%;T?ram-—ﬁw,mﬁﬁawaﬁ?vhawﬁﬁﬁﬁsmsqgﬁm)(wss)ﬁtmumnm ]
fear g

1. Indological and legal view/ '-(;S\Iﬂ\lﬁflcbﬂ 3R Ohl'j\"lnl ?@?ﬁm

2. Ethnographical view / 'jd-‘lliaill"l et =PI @@WTWGD
3. Empirical view / 3{JHAY <Y

4, Sociological view / JHTSIRING Ef¥aIur

Correct Answer :-

 Indological and legal view/ ‘és\lﬂmchﬂ 3R Ohlj\-lnl ?:I@aﬂm

2) The process whereby the helpless human infant gradually becomes a self —aware, knowledgeable person,
skilled in the ways of the culture into which he or she was born is known as : /

98 uferar oRId gRT g™ U 9 UHa Rg] fiR-9R v smar-wine e, IMeR safad a1 91T 8, 98 o
Txpfa # a1 gar o1, A a1 A fAqur 8) wirar 8, e &:

1. Social position /Wﬁiﬁ

2. Re-socialization / G: THTSITH0T

3. Shared understanding/ﬂ_s"l-ﬂﬁﬁ?‘l'lﬁﬂ?f
4. Socialization /ﬂTﬂGﬁW\"UT

Correct Answer :-

« Socialization /FITﬂTrﬂWUT

3) Movement from one stratum to another up or down by one of the possible stratification hierarchies is
called i

HUTFAT FRIBI0T TGTIp ] § | TP §RT T wR I gAY W SR AT 14 Bt 3R ferzhieran . B! ol B
1. Horizontal mobility / daad TaRiedar



2. Upward mobility /E‘Eﬁcﬂ'@ JIGRIR[)
3. Downward mobility / 3T Tfa=fterar
4. Vertical mobility / Tdad NIREING]

Correct Answer :-

« Vertical mobility / T§dd NIREING]

4) The primary goal of these organizations is to change the way people think and behave by modifying their environment.
Erving Goffman described the process as resocialization. What were these organizations called by Goffman? /

3 WTeH1 &1 MTYfiS I AN & HIeTd A SGaTd P 370 Hieq 9 gdid 1 & a31d H Igarg ST 8 | FAT
MEATA 39 UfhaT &) Y TSR0 & =0 8 uRUTa farar 31 39 Wre-1 &) Meas o1 wgd &2

1. Total institutions / THI TR

2. Total establishment / JHI RITYT

3. Complete establishment / q:Uf JYTYAT
4. Complete institutions / IIUTWIFT

Correct Answer :-

« Total institutions / JHY TR

5) Which of the following is an anuloma marriage? / IR # & P 9T U S faares 82

1. Kshatriya men marries a Kshatriya women / &‘lﬁ'q goy ool &rﬁq II'%FIT ﬁ ﬁ?ﬂ‘s’

2. Vaishya men marries a Brahmin women / %Q“C[ Yoy o[ slTelul II‘%F’IT I ﬁ?ﬂ?s'

3. Lower class men marries an upper class women / faTi® oy ol 3= CucH| Afgar g faarg
4. Brahmin men marries a Kshatriya women / SITGIUl o [ RIER] Hi%?ﬂ I ﬁ?ﬂ‘e’

Correct Answer :-

« Brahmin men marries a Kshatriya women / SITgIUI YUY b &‘fﬁ’q II’%T’IT I ﬁ?ﬂ_@'

6) Who among the following is noted for his/her work on Indian family? /
frafafe 3 9 o1 YRdg IRaR R 370 o1 & fog o[ 1e &2
1. S.C. Dube / TH. 3. gd

2. Dipankar Gupta / fquian RIS

3. K.M. Kapadia / %QT[ EI'T‘TI‘%TIT

4. D.N. Mazumdar / S1.G. Ho[HaRR



Correct Answer :-

« K.M. Kapadia / &.TH. ®HUTfSAT

7) Spatial segregation of minorities to remote areas of cities is known as:- /
ERI & Ggr &A1 H CUHTIDT & RIS AT i 31 &Y & SH1 oI1a g:-

1. Gated community / AR TG (¢S HRIAC)

2. Minoritization / WIE?TIE@’QFT

3. Sub-urbanism / 3U-REIHRUI

4, Urban apartheid / I [THG (34 &I'CI'I?TE?)

Correct Answer :-

« Urban apartheid / SIREUR (3d4 &I'CI'I?TE?)

8) Those attitudes or behavior that confirm to the norms of one’s own sex are known as:- /
31 TRHIN a1 AaeR ot {5l & o= T & ardst @) gfd ova &, 9 & ©u d 9 9 §:-

1. Gender Sensitization / foiiT Hagimur

2. Gender Appropriate /ﬁ"i"T SUYad

3. Gender Identity / foit RECIG

4. Gender System /%FTEI'UI'IFﬁ

Correct Answer :-

« Gender Appropriate /]%I"TB'W

9) The Law of Probability is appliedin _____ . /WRea s Rigd_ ¥ uge fSarmar gl
1. Non - random sampling / R grefse ufaaT

2. Random sampling | ORfs® gfdaaq

3. Geometry / SaTfifa

4. Social Research /AT STHYUT

Correct Answer :-

« Random sampling / Ay Ufderd-

10) Other than ‘caste’ and ‘village’, scholars have considered the to be one of
the three most fundamental structures in Indian society. /




aﬁ;ﬁvw%mﬁwﬁ% B R AT D d9 JaH AT SA-130 H § T
AT

1. Panchayats / Gd1Id

2. Agriculture / W

3. Hinduism / i%@ e
4. Joint family / G GRAR

Correct Answer :-

« Joint family / Ggdd GRAR

11) Which is not an Indicator of Globalization? /

DI A1 IfiHr01 BT Hha® 81 82

1. Free movement of labour and man power /%H 3R AHa e &1 Hod TANTHA

2. Free flow of defence technology / Y&T PIBIRCH] PT Had Udlg

3. Free flow of foreign capital technology / faa=h T’ﬁ W [ Had Udle

4. Free flow of foreign capital for investment / fa®1 & forg faa=fl q\Gﬁ D[ Had Udlo

Correct Answer :-

 Free flow of defence technology / &l SIBIMED! Pl HadHdIg

12) In Indian context increase in slum population depicts: /
HRdg Hed d susug # srardl A gf gt @:

1. An extension of rural prosperity / YTHTOT ?ﬁ{@ Cal q@

2. An extension of urban prosperity / e ﬂ'ﬁ'@ 2| q@

3. An extension of rural poverty / gt RIS | ?{@

4. A process of urbanization /Wﬁ yfehar

Correct Answer :-

« An extension of rural poverty / IO TRIe F gfg

13) A statement of predication that sets forth basis for testing the relationship between variables in an
attempt to link theory to reality is called ./

Yfasgarft &1 v T st Rigid & aafdedr A Siieq & TR A TR & 9" dae] ST o s34
¥ fre sy Pruffa sxar @, HeaE gl



1. Hypothesis / TR AT

2. Assumptions / HI-dTI

3. Research Method / Hﬂﬂ‘rﬂ:{ﬂvﬂ?ﬁ
4. Random sampling / TR AT

Correct Answer :-

« Hypothesis / TR&eTAT

14) According to Emilie Durkheim religious practices are best understood as : /

SHTSA gUTH & AR UTfife guTel ot Jaw st avg TH=T ST &:

1. Satisfying the spiritual interests of human beings. /
T4 & TS fedl Dl Ay HAT

2. Showing alternatives to the existing practices of collective life. /

A St o HielaT TuTsfl & fdwed & i@ |

3. Contributing to the integration and stability of a society. /

TSl & UhIHUT 3R FRRAT &GS ST

4, Helping human being to get relief from problems of mundane life. /

T &) AR Sitae & gHaRe § ed Fam # Hae & |

Correct Answer :-

« Contributing to the integration and stability of a society. /

THTS & Teh 1IN 3R FRRAT H IS AT

15) An area of social living which is marked by some degree of social coherence and similarity is
called ./

wﬁﬁmﬁ%wmmwwwwmmaﬁ?mmﬁﬂ%amm%w
FEI AT

1. Association / I9 (Qmequ)

2. Society / HHIS

3. Social group / gD qHe

4. Community / JHaId
Correct Answer :-

« Community / FHaId



16) Which theory advocates the view that the domain of sociology is the ‘common sense world of everyday
life’ ? /

P 1 g 59 fITR &) awTad a1 8 6 rTe=n &1 fieR-&7 Aor:i i fSieh #i
ITHIG HTIAT 82

1. Functionalism /am%Tthn

2. Structuralism / IAAMAIG

3. Exchange theory/ﬁﬁmm
4. Phenomenology / gfkeedr

Correct Answer :-

« Phenomenology / gfkeedr

17) Which technique of qualitative data collection is followed by researcher to understand people and their
behavior through direct, focused and non-verbal interaction in their natural setting? /

TP ST HUG BT DI W a1 MYUDdt gRT AN R I TR P 3! UTpfad AfeT o
eael, Higd 3R R-Wifa® S & areaw § THg[E & forg &1 = e

1. All of these /G'Cl'éaﬁﬂ'l-ﬁ

2. Observation / 3gdlhT

3. Interview / HI&TP R

4. Case study / ATHA BT HWWE@)

Correct Answer :-

o Observation / 3qdh

18) Rewards and punishment associated with role expectations are called ./

YT 3rdeel | I RPR R AM S derwar el
1. Sanctions / Ufdee a1 AR (HRH)

2. Norms / HIFGS

3. Values / ATl

4. Mores / 3TAR-fdaR

Correct Answer :-

« Sanctions / Ufqee a7 HoRT (HaRM)



19) Name the technique which is to be used before the actual field work starts: /
ARAD &F & HTH I a4 A U SUINT DI A1+ q1ell a1 BT ATH gdd:
1. Pilot study/m HHYA @Wﬁ@ﬁ)

2. Census study / SO AT

3. Survey /ﬂg&‘l'UT
4. Case study / ATHS &1 3T (B9 T al)

Correct Answer :-

. Pilot study / AFIGRId 3{eTg (UTIele WTal)

20) Which of the following is an appropriate example of a social institution? /

Frafafeaa o ¥ 19 a1 amfire TR 31 U6 U 36801 372
1. Political Party / ITSIHIfdd G
2. Market / dlGIR

3. Trade Union / SOTOR 99

4. Government Office / TRPRI BT

Correct Answer :-

o Market / ISR

21) Which one of the social movements in rural India can be termed as an example of ‘old’ social movements?

/

o YRd # {5 AT Siigie &) IR GTHINS figie] BT 3GTe VT H8T ol HPhdl 82
1. Peasant movements / YD 3fiareH

2. Ethnic movements /:|Wﬂ 311_@?4:[

3. Regional autonomy movements/éﬂﬁ'q WA igiaH

4, Environment movement / qafaRur sfigia

Correct Answer :-

+ Peasant movements / HYIH 3figIer

22) Which one of the following statement is not reflective of conflict perspective? /

fafafad 7 @ 919 31 $Y= J9d uRUeg &1 wRiade 81 82



1. Society as a struggle for resource and power. / G WW&[%%HWWEWWWI

2. Society is viewed as a complex system of parts that interact to perform various necessary functions ./

AT B 3 3] B T Sifed YuITeht & U H a1 SI1eT § S fafie iia=aes o1l &) 1 & forg
CIREISK TGRS

3. Conflict between classes determines social change. / AR & o o IraTfoTe gRade ﬁ?ﬂ:ﬁﬁmgl

4. Change is inevitable, often beneficial and can be violent. /Qﬁ_d?'f:[ &rﬁaﬁ%, &WW Gﬁ?m@f
Bl g |

Correct Answer :-

« Society is viewed as a complex system of parts that interact to perform various necessary functions ./

A 1 39 o B Uep Sifed Uunell & U § 11 ST g it fafive 3nawaes St &) o & g
CIREIRERGE.

23) Which one of the following are features of caste system?/
Frafafa 3 @ o1 wify srawn o1 fauar §»

1. Monogamy, purity and pollution, ritual hierarchy and ascribed occupation /

TH Uel! f3a1g, el 3R Al SM8H USHHH SR StRerd! aur (TSH1Ed agie)

2. Exogamy, purity and pollution, ritual hierarchy achieved occupation /
TR a8, YGal SR AT, S8 UaTIhH gRisT i as®

3. Exogamy, purity and pollution, ritual hierarchy aseribed eccupation /

TR faaTg, Gl SR AfHdT, SIS UalIhH StRer SIauy (TShled JTRIue)

4. Endogamy, purity and pollution, ritual hierarchy and ascribed occupation /
THATIATE, YT AR AR, SIS UarHH 3R IURGRI TaUR (TEHIEd HTaguRH)

Correct Answer :-

« Endogamy, purity and pollution, ritual hierarchy and ascribed occupation /

FHAAaTg, G 3R Ao, I8 UarhH R ItRar aurd (TShEd iagusH)

24) Radical sociology sought to support which of the following sociological thought systems? /

3T YRGS GHSIRIRG A fFrafiafad g faart o @ o a1 aud_ o33 9t aim iz
1. Functional / T

2. Positivist / TI&faTdl

3. Symbolic interactionist / Ui TeTdd 3ick:fehar



4, Marxian /IIT%FFEFT

Correct Answer :-

e Marxian /IIT%F&FT

25) Reliability of data implies : /

Se1 B faya-iaar o1 ared §:

1. The same methods of investigation on different materials produce the different results /
fafirs Tl R T & e B o 1 faftd gRomd g g

2. The same methods of investigation on different materials produce the same results /
fafir AraREl W e & 99H dRid Th g1 UK 39 HRd g |

3. The same methods of investigation on the same materials produce the same results /
TH &1 IHU IR 99 & GHH dRidh &1 T o IRUTH glar g |

4. The different methods of investigation on different materials produce the same results /

faftrs gl R Sie & f3fis Kol @ T g ufkomy Iad gd 8

Correct Answer :-

» The same methods of investigation on the same materials produce the same results /

T & Il R Sfie & JHH il &1 U &t GRumH erdl 8

26) Andre Beteille’s study, caste, class and power is an excellent example of studying rural stratification
from the /

3 afed sremg=, wnfa, ot siv wifa, G ATHIUT WRIHRUT BT 310a- HI1 BT TP IPP
SETERU B |

1. Weberian perspective / Jafad uRkued

2. Marxist Perspective / Haare uRved

3. Indologist Perspective / E_Sﬁ?m%ﬂ? gikye
4, Structuralist Perspective / TRAmaTd! ukuied

Correct Answer :-

» Weberian perspective / Jafagd uRkued



I JHISIRITIAT BT ATH TdTU ST THTSIRIRT Dl Th Tdd AEIH-[9UT D U H RITUT P BT 1Y
YT

1. Karl Marx / &Tdl HIo

2. Emile Durkheim / SHTSd g@IH
3. Talcott Parsons / SeahIC UTE-T
4. C. Wright Mills / 91, e ey

Correct Answer :-

o Emile Durkheim / ‘s’rrréa _gTﬂ:q

28) Cognatic kinship system is: / HJITHTH® oY (Wﬁﬁiﬁ ﬁ;ﬁT‘T) HUTTe % -
1. Multilateral /agu&ﬂtr

2. Unilineal / W

3. Ambilateral / @'EITW (Q‘q"lﬁew)

4. Bilateral / fgUé&iig

Correct Answer :-

. Bilateral / Tgueig

29) In which research design hypothesis is not necessarily required?./

e My TorEr A uikeea-T ot smazadar A8l gt 82
1. Diagnostic / TG
2. Descriptive / CIBIEAED

3. Exploratory/ 3=qut
4. Experimental / PIBIIRED

Correct Answer :-

« Exploratory/ =S

30) In which one of the following concepts has M.N. Srinivas explained caste mobility as a process of Social
and Cultural change? /

Frafafaa # | f5a sayron & wa.wq. fiffary 7 sfa afoxfiaar & amfore ok Jiefas aftads
31 ufrar & U § IHATAT 82

1. Modernization / W@W



2. Sanskritization / ﬂ@ﬁw
3. Secularization / gHRRUedT

4, Westernization / qigHiHR

Correct Answer :-

« Sanskritization / WW

31) In what way does ‘sociology’ differ from ‘common sense’? /

"GRG J9 A AR T fFa yor A fu=1 82

1. Consideration of diverse contexts in production of knowledge. / T o At fafay Teuf or faem foean
STl g

2. 1t is biased. / I8 A 51
3. It is subjective. / g 3 ERIGL) %I
4, Sociology prioritize researcher’s own experience. / JHISIRITA MYl &b ot S{JHd AR IV CEN IS %I

Correct Answer :-

« Consideration of diverse contexts in production of knowledge. / 3l o =  fafay Feuf oR faar foean
STl g

32) Who categorized India under the Asiatic mode of production?/

IdTe & URMATES A & ded HRd ! foad aiffpd faare
1. AK.N. Karim / T.&.TH. H49

2. Karl Marx / &Tal A6

3. K. Wittfogel / &. [de®a

4. Max Weber / Adg J&R

Correct Answer :-

» Karl Marx / ?ﬂﬁqﬁ\‘f

33) Who wrote “A Philosophy for NEFA”? /
T fharaw! Bk AT fhaa foredt die
1. R.C. Majumdar / 3R, AHER

2. M.K. Gandhi / TH.%. TTief}
3. McKim Marriot / ﬁm EHQQE



4. Verrier Elvin / dIRAR Qﬁq

Correct Answer :-

« Verrier Elvin / aRER Tfcaq

34) Who has argued that methodologically social facts can be treated like things? /
fram o T & fos usfonTa wmTfore @i o diell @1 ave dF1 o 9%l 82

1. Weber / d&R

2. Radcliffe-Brown / Y& [aAh-8T3H

3. Durkheim @Eﬂ:q
4. Comte / P

Correct Answer :-

+ Durkheim @@ﬁ:{

35) Who is of the view that one the key features of the caste system is the subordination of the (Kshatriya)
king to the (Brahmin) priest? /

T wa 8 for wnfa saawi 3t ve wa fa=ivan, (&) e, o7 (ST=I0n) o &t Srefi=ar 32
1. Satish Saberwal / TR FeRATc
2. M. N. Srinivas / TH.G. 4ifarg
3.J. P. S Uberoi / 1. U1.TH 3fieR1

4. Louis Dumont / w Ts'iI;FI:IJTc'

Correct Answer :-

 Louis Dumont / ﬂgﬂ Cﬂ}:ﬁ?

36) Who proposed the concept of De-Sanskritization? /

faiepfa®Rur ot sy fra= warfad 3t 42
1. G.S. Ghurye / SIL.TH. T

2. N.K. Bose / T1.9b. &I

3. B.R. Ambedkar / o1 3R, 3{FISHI

4. D.N. Majumdar / S1.T9. THGR

Correct Answer :-



« D.N. Majumdar / SI.TH. Ho[HaR

37) Who is the author of the book ‘Annihilation of Caste’? /
TP THTRARM 3T PR & AG® DI 82

1. G.S. Ghurye / SI.TH. T

2. M.K. Gandhi / TH.o. TTieit

3. A.R. Desai / T.3R. ¢UT3

4. B.R. Ambedkar / o1, 3R, 3{TAEH

Correct Answer :-

« B.R. Ambedkar / §1.3/R. 3TSSHT

38) Who said that all history is a history of classes and class struggle? /

e w1 i Ud® sfagm, aif &1 3fae ok 3+ Tuy 82
1. Ogburn and Nimkoff / 37T&H 3R FAHHH

2. Karl Marx / &Td AT

3. McKee James / T} oI

4. Lombroso / QSN

Correct Answer :-

o Karl Marx/ab—l?frl'laﬁ

39) Who was the first Chairman of the ‘Backward Classes Commission’ in India? /

YRA # FUssT ot 3maRT & yuH 3reef S U2
1. B.R. Ambedkar/ﬁﬁ. 3R, FATH
2. B. P. Mandal /Eﬂ. 0. 75

3. Kaka Kalelkar / BTPH] HIAADB

4. M. K. Gandhi / TH. & Tieft

Correct Answer :-

. Kaka Kalelkar / BTH] BTAAB

40) Who said the following: "... there are probably as many hierarchies in practice as there are castes." /



"...STgT ToTd-t STt it &, Sd-1 &1 QRIS a1 H gIH D AHTGAT §licdl 8" UG [ha Hgl YT ?
1. Andre Beteille / 3 Scidl

2. G.S. Ghurye / SILTH. O

3. MLN. Srinivas / TH.Q. fifarg

4. Dipankar Gupta / STOT&R T

Correct Answer :-

« Dipankar Gupta / HLIER RIS

41) Who brought the conceptual framework of Little and Great traditions in their studies on social change
in India? /

fFArafafaa ® 9 fFaa YRa A IrTfore aqara ) Jefia 3= sreag= # B1d aur 981 wRuRTe #1
SAYURUMTHS TGN P A foar >12

1. Milton Singer and McKim Marriot / e RTR od W flﬁuz

2. Maclver and Page / APHER Td U
3. M.N. Srinivas / TH.UA. o

o\ (\IV

4, Louis Dumont and David Pocock / ¢Jg{ §H\I'C Td Sfde Uldidb

Correct Answer :-

 Milton Singer and McKim Marriot / e RTR Q_d W ﬁf{%rc'

42) Who first propounded the Theory of Social Evolution? /
fre arfore faer & Risid 1 wed ufdurfed fear
1. Herbert Spencer / EQ_@FCF W

2. Aristotle / 3R]

3. Wallace and Darwin / GIYES 3'ﬁT g1fa

4, Montesquieu / ﬁ%@q

Correct Answer :-

» Herbert Spencer / _S'Q_GFLF TR

43) Who did the pioneering work on ideal type? / TR PR W YT o1d fpa- far
1. Karl Manheim / Eﬂﬁﬁ:f%ﬂ
2. Emile Durkheim / Qﬁlﬁ @,ﬁ'ﬁ[



3. Alfred Weber / 3PS dR
4. Max Weber / 5 J&R

Correct Answer :-

» Max Weber / fl?fsr IR

44) Who described culture as ‘... that complex whole which includes knowledge, belief, art, morals, law,
custom, and any other capabilities and habits acquired by man as a member of society’. /

fraa Ipfa 3 ‘a8 wifew dyul forgd 319, faym, wan, Afdwdr, FE, WY, 3R U & o &
%ﬁ;ﬁwmaﬁw%an&mmeﬁaﬁwmﬁﬁmmmw%%wﬁuﬁw

1. G. Murdock / SiI. W
2. H. Spencer / Ud. TR

3. M. Arnold / TH. 3ficS
4. E.B. Tylor / .91, TR

Correct Answer :-

. E.B. Tylor/ 3.8, TGR

45) Who among the following is known for study of Peasant Movements in India? /

fFrafafE o @ f5d URa ® e siigial & g & fo1e o= STl 82
1. Andre Beteille / 3{i% 9

2. Satish Deshpande / TelT<T RITTS

3. Dipankar Gupta/ QAR &l

4. D.N. Dhanagre / S1.GF. YRR

Correct Answer :-

« D.N. Dhanagre / 3°fQ'_'[ AT

46) Who among the following is known for the study of social life of Kashmiri Pandits? /
frafafea 9 9 59 S ufsal & i siaw & sivaa= & g s i g2
1. Partha Nath Mukherjee / aref 1y H"@Gﬁ

2. Victor D’Souza / fddex @ﬁ’ﬁ\_rﬂ

3. T.N. Madan / €I U, Halq



4. Veena Das / dI-IT od

Correct Answer :-

« T.N. Madan / <l. T4, #&H

47) Who among the following did emphasize social action as the basis of his theorization for the first time?

/

frafafea & 3 feaa ggdl TR su= Risia & SMYR oR Arfore FRars o) &R faar?
1. Vilfredo Pareto / faeiths! Uel

2. Talcott Parsons / Ceohic U

3. Alfred Schutz / 3{Eh S Yol

4. Max Weber / Adg J&R

Correct Answer :-

» Max Weber / fl?fsr IR

48) Who among the following uses the concepts of ‘hierarcy’ and ‘difference’ in the study of social
stratification? /

ﬁgﬁ%@aﬁﬁaﬁqwmmﬁﬂwaiawﬁ'wmvaﬁvam'aﬁmmwaﬁmmﬂ
BT 82

1. Dipankar Gupta / GG &l

2. Yogendra Singh / = ﬁrs'

3. Avijith Pathak / 3HSIId UTe®
4. T.K. Oomen / T1.&. 34

Correct Answer :-

» Dipankar Gupta / HRIER el

49) Who among the following called village community as a little community? /
frrafafad 7 @ fraa urfior wyera o1 T B¢ 9Hea & 0§ $81 87

1. Henry Maine / %:Iﬂ o

2.TN Madan/EPfQ:fIE:f

3. Robert Redfield / eE TSHITS

4. Max Mueller / HaT HeR



Correct Answer :-

« Robert Redfield / Jac ISHIcS

50) Who among the following scholars described Indian village as the least destructible institution of
Indian society? /

frefafea o 3 f5a fagr 3 uRd Tid F URSH 99T 9t AaH G ST S w9 | giofd fear
YT?

1. Sir Thomas Munro / ¥R YHY H:R)f
2. Sir Louis Dumont / ¥X @ @7{

3. Sir Henry Maine / 9X RNEIES]
4. Sir Charles Metcalfe / 9 I AehIh

Correct Answer :-

« Sir Henry Maine / 9% SNEIES]

51) Who among the following argued that Dravidians are an offshoot of Negro race? /
frfofea & & fean ag 9o far o fas sfas =il 7 @i = 82

1. Baron Egon Von Eicksted / aﬁ:f QTIT:T aH E'Wg

2. Sir William Crooke / &R [dferad oo

3. Sir Herbert Hope Risley / €% ga¢ g9

4. A.C. Haddon / .1, ged

Correct Answer :-

« Sir William Crooke / ¥R fdferad b

52) Who among the following argued that an anthropologist’s love for rural studies is a natural extension
of his/her interest in tribal studies? /

frafefad & A feaa ab fear fe e aafag @ aariore) &1 g sieag & ufd UH,
Sfeardt sreaye # IH@! =i &1 WrHIfde faar 82

1. M. Marriot/ UH. ﬁﬁu'c’
2.8.C. Dube/ T Y. gd
3. A.C. Mayer / e R

4. D.N. Majumdar / S1.T9. AHGR



Correct Answer :-

« D.N. Majumdar / S1.T. ASHGR

53) Who among the following has recommended (1974) the need to clearly distinguish between ‘family’ and
‘household’ in the study of family in India? /

Frufafad & 9 e YR d tRaR & e § TRaR' 3R 'R & §i9 3fdk Wy &1 31
STaRID AT B ST (1974) BI?

1. A.M. Shah / U UH. RMTg

2. LP. Desai / 317801, ¢S

3. Tulsi Patel / W ged

4. Patricia Oberoi / ﬁ'@ﬁm 3R

Correct Answer :-

« A.M. Shah / UUH. R[Tg

54) Who among the following has offered a rigorous critique of the stereotype of the ‘decline’ of the joint
family in India, under conditions of industrial modernization? /

fFrafafaa # Q feaa sienfie snyfReisu 9t 3l & dgq, R A GYa URRaR @1 fRmae @
FieTs YR 1 HSR AT BI2

1. Yogendra Singh / = Rig
2. AM. Shah /U, UH. R[lg

3. Sujata Patel / goITdl ged
4. Iravati Karve / swél Ha

Correct Answer :-

+ AM. Shah /U . UH. R[Tg

55) Who among the following has observed that the main concern of the pioneers of Sociology in India in

the early 20th century was to Indianize and not professionalize Indian Sociology? /

frafafa & & fraa sraeie far i 207 wrared) @t goemrd § HRa § GHISRIT & 3rrgd! @1
ReT fRidT, YR JHISIRIRT ST HIRAIHRT 3R SATaHTAS0T T8 81T Y12

1. T.N. Madan / EPFQT‘T Hed

2. Dipankar Gupta / fqOidR RIS
3. TK. Oomen / T1.3. 3184



4. K.L. Sharma / &. Ud. QT

Correct Answer :-

. TK. Oomen /e1.&. 384

56) Who among the following collaborated with Friedrich Engels to examine the process of social change
and development? /

IraTfore uRadd 3R A &1 ufthar &t oig #34 & forw Fufefaa & @ feaa bsRe i &
1Y JganT frar?

1. H. Spencer / @W
2. Auguste Comte / RS P
3. Karl Marx / Tdl AR
4. Max Weber / HeRT d&R

Correct Answer :-

« Karl Marx/ab—fﬁrﬂaﬁ

57) Who among the following supported the cyclical theory of social change? /

fFrafafaa A A g amrre uRad & @i Rigia o1 gwd= fear
1. R. Firth / 3R %Y
2. P. Sorokin / tﬁw

3. Durkheim / Q’@ﬁ:{
4. Parsons / m

Correct Answer :-

o P. Sorokin / o IRIfe

58) Who has said that the function of religious rituals is to affirm the moral superiority of the society over
its individual members? /

P wer & fop nfifer Srggr &1 o1 wHTel F Afa® 5T #1 3ruA saferTa Towl W) g ST 82
1. James Frazer / SR Dol

2. A.R. Radcliffe ~Brown / T.3R. Y& FIH-§T3

3. Emile Durkheim / 37:”%?“[ @@ﬁ:{
4. B. Malinowski / &1, ATfCIIo%b!




Correct Answer :-

« Emile Durkheim / SHISA E'{@Qﬁ:[

59) was considered to be crucial in the identification of social problems. /

&1 araToTe Jawre & sifufruiRor ¥ sife agayuf amT Smar 81
1. Modernity / 3T ?;lﬁﬁT
2. Globalization / JZAIHT

3. Development / [d®™
4. Westernization / OiHI®B 0T

Correct Answer :-

« Modernity / WWT

60) As identified by S.C. Dube, which of the following was not one of the factors that contributed to status
differentiation in the village community of Shamirpet? /

T Wt g9 gRT UgAH 91 & a1e, Fafafaa & S 9 91 ve T FRE T81 419 $ wiRte &
yritor ager # fRfa fAddiezor & ahrer dar 82

1. Age / 31
2. Landownership / ‘J-c[-ETJﬂ

3. Religion and caste / e} 3R ol
4. Household size / WW

Correct Answer :-

« Household size / MW

61) The last in the series of rites of Brahma form of marriage is i
faaTe ¥ 781 U S HBR) B Y@ A sifow gl

1. Vivah home / faarg @R (ﬁEITE»' Ehtl)

2. Saptapadi / ququat

3. Andi/ 3fife

4. Panigrahana / qrforrgur

Correct Answer :-

 Saptapadi / U]



62) The process whereby religious thinking, practice and institutions lose social significance is known as: /
fory wferan & enfifes W, S SR TR ATHIRE Hgw Tl 3d €, 38 AT wIaT 2 -

1. Liberal movement / 3GIX 3ffare

2. Secularization / SHARUET

3. Atheism / ATl

4, Scientific rationalism / %ﬂm W

Correct Answer :-

 Secularization / ﬁﬁﬁ?ﬁ&‘[ﬂ

63) The process by which ideas and beliefs become part of the self is called ./
98 UfhaT forae gRT fauR 3R YRUMY 3940 &7 TRAT T WA &, gt gl
1. Conformity / 3{I=Udl

2. Internalization / 3fiadr
3. Imitation / HTReUT
4, Institutionalization / TR DHROT

Correct Answer :-

« Internalization / IRIEG]

64) The process under which one culture merges itself with the dominant culture is called ./
9% ufspan, e d8d U S fa UHTaRITe! Iepfa & 914 A gr et 8, Sgardl 2|
1. Adaptation / Jh I

2. Acculturation / i-i@ fd-Geh U]
3. Assimilation / IfRI@H

4. Accommodation / &g

Correct Answer :-

o Assimilation / ﬂ'&lﬁq

65) The study of structure of layers in society called as: /

THTS A TRY B GIGT BT g f pgaran g -



1. Structuralism / G [

2. Social stratification / {-IIHIf\\ﬂdv \‘dé\ld‘NUI
3. Social conflict / FTHTISIER W'Ef
4. Socialization / WfGﬁWUT

Correct Answer :-

« Social stratification / GTHTITH TARIHRUT

66) The distribution of human settlements in terms of rural and urban constitutes: /
7T SR 2R F e & v afEral o1 faavor fAffa wear @:

1. A dialectical system / Th GGlHD LI

2. A continuum / Uch fRawar

3. A dichotomy / U @"J-I'IGFT

4, Urban development / Q'I_E:ﬁ famrg

Correct Answer :-

e A continuum / U IGEGEG]

67) The perspective that social world is a human construct and has infinite possible meanings is most
closely associated with :-/

%_&uﬁswmgﬁm,wnﬂaﬁnfw%aﬁ?mmﬁmﬁa 3 g% 1Y Fdear A 93
g e:-

1. Marxism / HTGRIaTG

2. Structural Functionalism / SRATE® HRATHBAT (YRl e TerSH)

o

3. Phenomenological Sociology / Te-TdH® THISIRIRG (bR Ihd TiRRAST)

4, Conflict Theory / Tus &1 Rgid

Correct Answer :-

o

« Phenomenological Sociology / TS THSIRIRG (ThHAI@IRd ARl

68) ‘Mitaksara’ and ‘Dayabhaga’ are: / ’th?IT&RT’ Gﬁ?’ QTAYHTT %—
1. Two philosophers of Vedic age / afew gi7 ERARANIEE

2. Two main schools of law in the matter of succession and inheritance governing patrilineal Hindus /

SRINBHR 3R FgereT® fEgsh & i &= & Ama # &1 & & T faeeg




3. Two festivals of harvesting rural India / YMHIU YR i Wl_s; D Gl @E’R
4, Two schools of thought regarding Varna system / guf gureht & IR H fagR & ) faermeg

Correct Answer :-

» Two main schools of law in the matter of succession and inheritance governing patrilineal Hindus /

SRINEHR 3R FFEre® fEgah & Ffa &7 & ama # &1 & &) e faeeg

69) Territory and we-feeling or social coherence are the characteristics of which of the following? /

IS & 3R 6 B UIGHT a1 JTHIS "afad farad | 3 feae! faxivan 82
1. Community / GHcII

2. Association / J9

3. Society / FHTS

4. Institution / T

Correct Answer :-

« Community / HHald

70) Structuration theory of Anthony Giddens is oriented towards: /

TR Rre= &1 wvares Risia e 31 3y siftfad gidie -
1. Micro level theory / TTSeh! dad Rigid
2. Macro level theory / A dad Rrgid

3. Structuralist theory / TaTard! Rrgid

4. Meso level theory / AIICIdd RIid

Correct Answer :-

« Meso level theory / BIcIgd RIGid

71) Karl Marx is associated with which theory of social change? /

HTd AR ATHTTD IRad & [ Rigia 9 I3 gU 2
1. Conflict theory / Hﬂ'ﬁfﬁﬁs{lﬁ

2. Functional theory / HrATHD NG

3. Cyclic theory / Ieh1g Rid

4. Evolutionary theory / faprard! Rigia




Correct Answer :-

« Conflict theory / T Rigid

72) What is the function of legal institutions in a society? / HHIST H $T-'fﬂ TR} BT B4 T %?
1. Adaption / 3l

2. Goal attainment / d&J 1]

3. Pattern maintenance / JTqHT @A

4, Integration / QWUT

Correct Answer :-

« Pattern maintenance / I B RECEEC ]

73) Direct personal interviews constitute ./ UcH&l AfTd IETPIR _ DTS Bl %I
1. Secondary data / @T‘ﬂw @ET

2. Tertiary data / W Sl

3. Primary data / Ty Sl

4. Reliable data /fAYTIT ST

Correct Answer :-

 Primary data / TIH® sl

74) One of the observations considers modernization as the transition from ‘Gemeinschaft’ to
‘Gesellschaft’. What shift does it signify? /

T 4 9t sadais sy Isur 3t &yar I 'SNuaTRed’ & T BT AHHUDIA & &7
o g1 31 98 fh aqara &1 g=itar 82

1. Agrarian to industrial / Tﬁf fawa® & shenfire

2. Community to individualism / fddarg 9 qHald
3. Rural to urban / ATHIOT @ Ql?ﬁ

4. Tradition to modernity / GRURT g 37 %Lﬁ%’[

Correct Answer :-

« Community to individualism / faddg ¥ T

75) One of the methods of data collection refers to collection of data from the field. Identify. /



ST HIE & WRIBI H H TP, &7 H ST 9IUe DI HqH ¢dl & | g DIIeg?
1. Historical method / UfdgTiRies fafd
2. Comparison method / eT-T fafer

3. Empirical method / {JHISTY fafdr
4. Scientific method / AR fafer

Correct Answer :-

« Empirical method / 3{JHdJ fafer

76) According to a fundamental principle of Indian social ethics, the aim of every person in the world is to
attain Dharma, Artha, Kama and Moksha. This fundamental principle is called .

YRR AT Afaddr & wifis Rigia & sraR, gitar # g3 safea &1 3e=a 4, ord, &1 iR
My MM HAT g sH AP Rrgiad_ weroEargl

1. Purusharthas / Wﬁ
2. Nirvana / ﬁanT
3. Sadhana / ITYT

4, Ashram system / S{THH HdR|]

Correct Answer :-

« Purusharthas / Waf

77) According to Beteille, the high standards for ‘Intensive field work’ in Social Anthropology was first
laid by:-/

fee & SFER, Wrad QAT # e & B & T 3= A D) 575 gRT Uge @1 4T U
1.Malin0wski/f|ﬁ1:haﬁ>°[

2. Redfield / Y8WIcS
3. M.N. Srinivas / TH.U. fifa

4. Lewis /@

Correct Answer :-

« Malinowski / AferTasa!

78) According to Karl Marx, superstructure consists of .

BT AT P TR, HRRTT | Far g



1. Private property /

2. Mode of production / 3TTGA Jfd
3. Raw materials / ®<d AT

4. Ideology / ICEIRIR

Correct Answer :-

. Ideology / foaRYURT

79) Which of the following journals is not published from India? /
frafifae & @ $19 W@ uhier @ a) uRd @ yeriRea T8 g 32
1. Current Sociology / Pc AR

2. Economic and Political Weekly / sﬁqﬁi@ Q_S' Ulfdlesd dide

3. Social Action / TR U1

4. Sociological Bulletin / RIS IISEDS] Qﬁﬁ:{

Correct Answer :-

« Current Sociology / ®C NIREINIS

80) Which of the following is asserted by the organic theory of society? /

Frafafea 3 @ fora = aue & Sifde Rigid gri ok fear siar g2
1. The units of society are fixed. /Wﬁwmﬁﬁal

2. The society is unlike a human organism. / JHIS HIHd Sick f‘l\-lﬂél
3. The society is like a living/biological organism. / JHIS Uch Sifgdifas Sita &t e ]

4, Each unit of a society performs definite universal function. / TJHIS CAR LS W—st fafera ﬂﬁﬁm CANKRGI]
gl

Correct Answer :-

« The society is like a living/biological organism. / THIS U SHfdd/Sfdd Sitd Pt a8 g |

81) Which of the following would be the best example of an achieved status? /

fFrafafea ° Q «n aiia ot g3 amfore fRufa &1 gd9ts eI e?
1. Gender / TeffT
2. Caste / STTfd



3. Class / [
4. Race / o

Correct Answer :-

o Class/ an

82) Which of the following is not a type of Research Design? /

fFrafafaa 4 @ o9 My sifrmer (- fEers) s1ueR T8 32
1. Descriptive / AUHTH®

2. Exploratory / 3{=S1

3. Experimental / IR

4. Content Analysis / I fa=RaieoT

Correct Answer :-

+ Content Analysis / T fa=eruo

83) Which one among the following is not associated with quantitative social research? /

fFafafEa o @ o aEeEe Qe My @ J&9fta T8 32
1. Hermeneutics / HG[CaR

2. Induction / 3RTH

3. Positivism / &Gl

4. Empiricism / 3{gHadlg

Correct Answer :-

« Hermeneutics / %ﬁﬁgﬁ?ﬂ

84) Which one of the following is not a characteristic of usable hypothesis? /

frafafea & & 1= @ Swa 37 g9 uReea= $t favar 18t o2
1. Conceptual clarity / SITYRUMHD YT

2. Specificity / fafRyan
3. Lack of theoretical orientation / a@ﬁ?ﬁ SffHfa=arg &t B
4. Empirical verifiability / 3IHISI=T FATI=1d

Correct Answer :-



o Lack of theoretical orientation / JGIdd UG Dl HHI

85) Which among the following is not a feature of the caste system? /
Frufefeaa & & o ot afa sraw o v T8 82

1. Hereditary occupation / Oi-‘lll-j,*ld YTy

2. Hierarchy / 3{JbH
3. Village endogamy / UTHITT 1 IEAEEIR]

4. Restrictions on food / HIoH TR Ufdeey

Correct Answer :-

« Village endogamy / ATHI0 TN faarg

86) In order to explain the latent functions, R.K. Merton offered an example of ceremonial dances to
encourage rain. Who were the tribal group he mentioned? /

SfafHfeasral & e #33 & g, 3R wéT AT Y 9¢ra1 37 & fow ART T F1vw
I vl faaT| 351 fba ST I &1 Seara favar 12

1. Azande / \’rl\_fl'l%{
2. Hopi Americans / fﬁT—ﬂ 3MRfHal
3. Nuer people / I3RR 1Kl

4, Trobriand Islanders / E;”ﬁ@ Sﬁﬂﬁgﬁ

Correct Answer :-

» Hopi Americans / Eﬁtﬁ MRfHaf

87) Inter subjective consciousness in everyday life is the core area focus of the ./

e Sia & SieRIRS AT BT BT S5= gl
1. human ecologist / HI1d R fagm=mat

2. cultural pluralist /Hi@i?lcb ®|§Q’10|ICE\I

3. phenomenologist / gReeHdT Sadidh- !

4. behaviorist / AdERATG]

Correct Answer :-

. phenomenologist / AREEHT 3{aaldh-1 XMt




88) Totemism is a belief in: /

o1 foreg are g R Ay F=an @:

1. None of these / Ezlﬁ q ﬁ's‘ '_'lébfl

2. A spirit vested with power and deity. / Udh 3HTHI Tfdd 3R Saar & Iy Al B
3. An object vested with spirit and power. / STHI 3R Wfd & 1y fAfgd us ax|
4. A deity vested with power and spirit. / U g1 Wfad 3R 3iTe & 1y fAfgd g

Correct Answer :-

 An object vested with spirit and power. / STHT 3R wfad & Ty fAfea Udh dd|

89) While intervening in the debate of biological basis for social stratification, one scholar argued that,
‘qualities are not just there, so to say, in nature: they are as human beings have defined them, in different
societies, in different historical epochs’. Who argued in this way? /

TS WS F T Siiadwiae snur & vy & 959 § swaau #3d g¢ Us fagH A $e1, Ul
Fad ggi 181 8, e & forg, uepfa #: 3 agw & wu A faftrs gume A, fafir AfeeRRe gt o
ufyyita fpe e & 1'59 @RE &1 9 feaa fear?

1. Andre Beteille / 3T, Scidl
2. RK. Merton / IR, II_CET

3. MLN. Srinivas / TH.Q. gy
4. B.R. Ambedkar / &3[R, 3TASH

Correct Answer :-

« Andre Beteille / \’rﬂ% St

90) Louis Wirth has defined urbanism in terms of three traits. Which one of the following is not included in
his list? /

g%wﬁ;fg%ﬁqa&wﬁ%ﬁzﬁﬁmﬁuﬁmmm%lﬁaﬁrﬁﬁﬁﬁaﬁquﬁWﬁ

1. Mobility / TTa=fierdr

2. Density / 9-cd

3. Heterogeneity / fafaeran
4. Size [/ DR

Correct Answer :-

« Heterogeneity / fafaerar



91) CANCELLED

The theory that views people as ‘stage managers’ managing impressions presented to the world is: /
9% Ry ol @ 1 GAYR T YR & 4 & g1 &) IRed HIal 8:

1. Dramaturgy / -IG&IRME

2. Looking glass self / & CARIBEIRTECIE|

3. Dialectal theory / CINIKGa ﬁ@'lﬁ

4. Role theory / H&Iﬁ Rigid

Correct Answer :-

o Dramaturgy / ATGIRIIE

92) CANCELLED

According to Anthony Giddens, there were ‘neglected founders’ of sociology in pre-modern as well as in the

period of foundational figures. One eminent scholar of 14th century, who devised the concept of ‘group
feeling’ or ‘solidarity’, is among the following: /

TR 3= SR, gd-3nyYfe & TIY-1 STURYA fibs! @1 3afy f queRmy & Suféa
wade A 14ﬁ¥g@%wmﬁm,mﬁ'ﬂﬁ%ﬁmvm'wvaﬁmwwﬁm
foar, fFrafafaa g -

1. Al Atas / 3 3{dIH

2. Tbn Batuta / g1 dddl
3. Ibn sina / &1 RG]

4. Tbn Khaldun/ ¢ Wegd

Correct Answer :-

+ Ibn Khaldun/ ¥ Meg-1

93) CANCELLED

The view that the tribal people should be allowed to retain their special characteristics while becoming a
part of the mainstream is known as: /

YRUN & RIYURT &7 R §99 & SR ST a9 Y 3ra- faRiy fawarsi ) 91 7@ 9t
qufa e taRe,  Fwud S w3l

1. Acculturation / TP fa-Hehrur
2. Assimilation / W
3. Isolationism / §Yh dldlq




4, Integration / QW

Correct Answer :-

« Integration / QW

94) CANCELLED

Which of the following would NOT be considered to be an example of social change? /

frfafad # A 5 arfore agara 1. 3Sevur A8) |IHT SITe?

1. Modernization / &rrg{ﬁﬁw
2. Change in fashion / %Y o dead

3. Bureaucratization / ATGRRITGIGhRUI
4. Adoption of e technology / éﬁlﬂﬂﬁﬁ CARSELIRIRCIEI

Correct Answer :-

« Change in fashion / %Y o daad

95) CANCELLED

Ideology “obscures the real condition of society both to itself and others and thereby stabilizes it. Whereas
utopian ideologies advocate a complete change in the structure of society.” Who said this? /

fraRyRT <aaTer B arafas R $8 W 3RS A1, Il & g FHET $1+ & 3R sAfy
%ﬁl{'\;ﬂ?f?lWﬁwmﬂmmﬁmﬁwaﬁﬁﬁaﬁmﬁl”uﬂﬁw
1. Karl Manheim / ?ﬂ?f'a:l%ﬂ

2. Karl Marx / &Tdl AT

3. Hegel / 8911

4. Louis Althusser / T3 &R

Correct Answer :-

« Karl Manheim / Td 'a:@'q

96) CANCELLED

Who is the author of ‘The Passing of Traditional Society’? /
g UTRITT 31w SfExMa Tiarsdl & da® S 82

1. David Lerner / 3fd8 @R



2. M.N. Srinivas / TH.UH. CIRECIES]
3. D.N. Majumdar / S1.T9. AHGR
4, Louis Dumont / ﬂéﬂ STEI:IJTC'

Correct Answer :-

« David Lerner / %ﬁﬁs’aﬁ?
97) CANCELLED

In a positively skewed distribution, the value of mode is: / T PRIHD faad faazur ﬁ, HIS &1 HE %:

1. Zero / A

2. Minimum / <IdH
3. Maximum / 3ffHar

4. Same / HHIT

Correct Answer :-

« Minimum / gIdH

98) Few characteristics are given. Find the suitable group from the options which is having the given
characteristics. *Definite topography * Common language * Ties of blood relationship * Endogamous /

g5l 9o fadvan 1 71E &1 eyl § @ a8 SugE Wy WId SIfore forad i 78 faiwang €1 «Ffda
RIATHTA * SUTTTSS UTHT * Tqd HaY BT S * Safaargt

1. Caste / Sfd

2. Clan / 9%

3. Kinship / ST

4. Tribe / ST

Correct Answer :-

« Tribe / SIS

99) A principle that all activities are positively connected to society as whole is called ./

o Rigia forgd @it wfafafr ) gof o @ 3ure @ 9oR™e Sud seradre, s
PEIATAT B

1. Structural functionalism / GXTTHD W‘TFIWT
2. Structuralism / ITAAIG



3. Universal functionalism / JTAHIH® TohATRITed] (qﬁaﬁa TRl )
4. Structuration / XCFIRIA

Correct Answer :-

- Universal functionalism / STaHTHe fohareiiaar @ﬁ?ﬂft«r eI TeroH)

100) Which of the following statements is correct about the theory of cultural lag? /
HIEplae ST (Feavd &) & Rigid $ IR | FafifeEd § 4 o9 91 539 981 82
1. Both materials as well as non-material culture undergo changes simultaneously. /

S ATl U Y gt R- o Wi U a1y uRafdd gidt g |
2. Changes in non-material culture are faster. / ﬁ?—’-ﬁm Wﬁf ff trﬁaﬁ:r aﬁﬁ @ Eﬁ?f % |
3. Material culture changes faster than non-material culture. /

R-Yfdp Tepia o1 a1 § Hifdes Txpfa § ool ¥ uRkafda gl 81
4. Sometimes material culture and at other times non-material culture changes faster. /

FHit-Fft Hifde Tepia SR o SR TR-HIfd® Teapfa & dont 3 uRkafad g1d g

Correct Answer :-

« Material culture changes faster than non-material culture. /

R Fepla B garn § Hifde i A dshd aRafdasia 1




